0.3) [€]

Jet Charge RMS (kappa

Ratio to ATLAS

=
o

=
IN

=
N

[

o
o)

o
o

o
IN

[EEY

0.5

Jet P, [GeV]

8000 GeV pp Jets
| T I T I T I T I | I I I I | I I I T |_ m
— | c
- Jet Charge RMS (x=0.3, forward, hj| < 2.1) 43
N 13
- " mi=
- —A— Pythia 6.428 370 —n
[ --8-- Pythia 6.428 391 12
[ Pythia 6.428 default I
— —&— Pythia 8.180 default N §
- i
u By
o™
B <
- — ™
- — ©
- " m u L] m —&
I —
— —z
B — X
[ 1.8
— =
- 1o
=
B ] g
- 2
B 19
- 1
] P 1 F
o 52
A 1
B —0.5
" " | " 1 " | " 1 1 " |
0 500 1000 1500



	Contents
	Page 1


